P3-1

State the excluded values for each.

x+3
2x+6

)

Simplify each expression.

L. o n+2
3
2n+4

X-x-2

x> —7x-8

Vi Sy
v+ 14v% + 7y

x? —64
¥ —12x+32

3n* +Tn—10

11
) on-—=6

Name

%) 20
20x - 32
4) 5v+ 40
v+ 8
6) xi+11x+24
x“=5x-24
v v+ 700
8) 5
v =3v-70
Sa—-10
10
) a*-4
12) 36 - 9x

10x2 — 40x

Date




Answers to P3-1
1
3) >

v+2

?v(v+ 1)
3n+10

7

11)




Multiplying/Dividing Rational Expressions Name:
P3-2 & P3-3 Period:

For each problem: factor and simplify.

@ 2.5y

ax? 15y

X*+7x+12 2x-10
Xx=5 X+3

@ X2 —3x—10 3x+21
xX+7 6x — 30

x—1_ 6x%
4xy% 1-x

@ 13X}‘2 ; X2-9
x24+3x—18 26x%?

@ 25-x>  Txy
14x%y® 8x+40

2x%+5x—7  x*+4x
x+4 x*—2x+1

2x+10 x*—10x+24
32-8x x*—-x-30

(0 12x+48  4x*—25
6x—15 x?+9x+20

Answers:

® -3 © s @F
o " Z%9  What Do You Call a Message

© % © oy ke Printed on a Lion With Chickenpox ?
& Ok ® 2+ 7[as5]s[0]s]e]1[a[2]w0]e]e]a]2]6]4]i0fs

x(2x + 7) -5 4(2x — 5)
= ® -Tap ® seva)



For each problem: factor and simplify.

12m2n® . 3m®n Answers:
m+5 " m2-25 ® 7m{m - n)
@ n®—9n+20 , 5n-20 ® -an*n-3)
6m’n®  10mn? @ mm+3)
B ] ® o
m?*—7m " m®-4m—21 @ 4o =9
m
@ 16—-2m . m-—8 ®_.m___41
m?+2m-24  3m+18 2mnim-7)
© nen=9n+3)
12n—36 . 8n° 3[2n 3)(n=6)
9-n%2 " n?+3n ® - -4
n(2n - 5)
@ m?—n* | m®n-—mn® ® 5En-Tim =5 5@n—=Tn -5
m*+2mn+n®"  7m? s 2
nim+ n)
@ n—n-12 , 3n°—12n (D) sl
2n?—-15n+18 ~ 2n®—-9n? 2m®n(m - 5)
n=5
3m®

17mn® | 34m®n*
m?+2m-35" m?+7m

< -
(@) =20 _ . (10n +25)
3n°~16n+5

What Happened to the Peanut Who Went
Walking Late at Night?




Add/Subtract Rational Expressions: Advanced Name:

P3-4 Period:

Why Do Helicopters Get Sick So Often ?

ll‘llllll
Express each sum below in simplest form. Find your answer and notice the
three letters next to it. Write these letters in the three boxes at the bottom of the
page that contain the number of that exercise.
T4 4 m 10m 3 8
+ + +
X-3 x*-9 m+5 m?-25 ®m+m 8=95
X 7%+ 10 2 9 6 2 5
+ + + +
®x+m x° + 5x @3+m m®+8m + 15 omula a+2 a-—-2
X—-20 X 11m m 2 7 1
+ + + +
X2—4x x—4 @3m+m3:mm m+7 a-3 a*+a-12 a+4

@ 2 @ 2. @ L, @D Grme
@B 1, @By £+ @D ey &
D ety D gty @D Bmen O gty
@D ot @ o, ED X @D A

21224 l4la8|slsfe|6|6|1|1|1]|7]7]7]3]a]3]elolals]5]s5




Honors Advanced Algebra
P3-5

Simplify each expression.

I)E_x+2y
6y 6y
3)@_rn—5n
2 S5m
2b—-6

5) 6b B
b+1 b—-3
7 4 B 2
p—=5 4p+20
1 2x—y 2) 4y
3y
-2
5) 4b
b+1

7

Answers to P3-5

Name
Date
4y 6
5% 6xy
3 3
2x(x+6) 2
4
o Sk __k+d
2k 2k*+6k-8
5
) 3x B
S5x—-6 x+5
3 10m? —m + 5n 4 3-5x%-30x
Sm 2x(x+6)
Tp +45 3x% — 10x + 30

2 —5)p+5) S )
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h: To solve fractional equations
(solving a quadratic equation may be required).

OBJECTIVE 3-



P3-7 Name:

Honors Advanced Algebra Period: Date:

Determine the equations of any vertical asymptotes and the values of x for any holes in the graph of eacl
rational function.

L fe) =222 2. f@ =33
3. 00 =57 Ay ol
5. h6) =55 6. h(x) = 28

(x2+3x+2)(x2—4x+3)

Write a rational function in factored form that contains the given characteristics.

7. Hole:x =—4,VA:x =5

8. Hole:x =3,6, VA:x = -5

9. Hole: none, VA: x = —1,1

10. Hole: x = —2,—1,0. VA: x=1,2,3



pP3-Y
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You can solve systems with ratlonal equations using some of same methods you used

with linear systems, o S
Ackiyihy |
cAtivity N
y= x k-) 3)‘\— | X+ il
Follow each direction to solve the system =,
= r+1
1. Set the expressions for y equal to each other.
3 -\
2. Solve for x. @ Lep X XY‘H\

3. Check your answer by substituting in the original system.

* - ‘7( A i\
Acti 2 e e = N = = (3x- )] \
Actiysty L = (3x=1)(x 1) ik (3x-D{xr1)
L X 2 o 3)(_ | . -
Follow each direction to solve the system & '
y+l=x —~
X 1) = 3Ix-1
4. Salve each equation for y.
5. Set the resulting expressions equal to each other. %X = 3Ix—|
6. Solve for x. ﬁ_'_g){ Wi 3 v
7. Check your answer by substituting in the original system,
a Xt —2Ax=~1
Exercises 4 ¢ A

Solve cach system.
Xt-wx41=0Q

(x=0{x=-1) =0

9.{”“’51e X=t
y .
@ cibEER K=\, —— = Tz__\

y=xt-2x—-2 ~
10 L tx—8 A= L " \._./
x+ Ok AL 3STEM . -
X2
y= +2
47 “iaxt2 y = fooy e J.i o y
y—3=x -1 (BO{U("*U"'M 2 ( L :%-) )
@ 12. Reasoning Itis possible for the graph of a systemn of rational equations to Y = Jr.-— = :‘l;— i o
. |

include a point of intersection that is an extraneous solution? Explain,

Prcivdeg o * .
- . L= x| OB -
@ X - q} = ';— ﬂ'\U”'\'Pl.'D b:j Y K"'J
7 +o beth sreles of €q, y = X=\ o
S
x”:} & = '—{:-' o ' N .:‘J\"*'. W
7( 3 y‘)}‘f @ LLD X 1) WM\F ' { gq"r:xz'?’n‘m,
7(}(-2') = G o s = L =3 i
e oo (et = geglely TR N2 T B
.(V\ 1.} ‘}:-*9 /ﬂ
s N ' ~—~ D \(y,»
[y = #a] ==& e T
b =xTm|xTIXF T e X780
V=% . ... s
_____:‘____,:"._. - '_"-__"?;-1._3)‘ - & T
e © )

|Y',: x‘_w O_.__(X_.L\\;K-("k)

o =x-~ ov O~ Xt
————__ -
\ Ll:_a“ [«I.,.)(;

Solve gree hitaldly ov alge byecs uJ.-Lj "



? 3o

HHA Key Concept 3 Review Name:
Problems 1-8: Simplify each expression Problems 9-16: Identify any holes, vertical and
5 4 horizontal asymptotes for the following functions. Then
1. ?_ : w1 find the x & y intercepts and graph each function.
3l
g, f(x)=(x-1)(x+3)
(x+3)x—6)
2_ £+i
6x 2x*
10. f(x)zw
(x+1)x-1)
g 2 B 3 0 8
41 242 2P HE3x42
i, flg=rs
x+1
A 9 N 6 a 12
x+4 x—-4 x*-16
12, f(x)=_3x+2
-2
g x* —49 _x2+10x+24
- x?—4x-60  4x-28
2
x“ -1
13. X)=———
/&) x> 4+5x+4
’ x2+8x~9'x2+5x—36
© 3x-12  xP4x-2
2
x“+5x+6
14. f(x)=—————
/&) x> —Dx—8
12
x—4
’ I = 3x* —4x+1
i —4x+
5 x-4 15. f(x 2P AT
/&) 3x* +5x-2
g 4x-20  8x+16

x> +3x—40 x’—64



6x% +13x=5 Problems 23-25: Solve the system of rational equations

16. f(x)= 252 + 9% +10 algebraically or graphically.
_ 6
23. ¥ T %41
y=x
Problems 17-22: Solve the rational equation and
checking for extraneous solutions.
2 x+7
17. — =
X X
X
x*=-3x—-4 50 24 x+2
18. = 2x
xX+6 X+6 =—
x—1
19, 2 42
x+3 x+3
-1
20. —x——2
x—1 x—1
xy=720
25, 4
{x+y =149
1 1
24, +o oy 0
r=2 r°=7r+10 r-2
Tx x 4
22

gl D - x—4_x+3



